|«

«8

[a

«

X10
XII



X2
X13
X14
X15
X16
X17

S.D.

rH

Ra

Ra_

91

™ !

X Y
Multiple Correlation Coefficient
Generalized Squared Multiple
Correlation Coefficient
Generalized Squared Multiple Correlation
Coefficient
Generalized Squared Multiple Correlation
Coefficient



10.
11.

12,
13.

14.
15.
16.
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18.28
2.80
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18.21
16.82
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16.73

13.02
23.21
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2.02

3.57
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3.14
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4.47
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35.00

25.00
5.00
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36.00
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19.52
45.11
69.32
24.49
24.56
39.62
21.11

22.65

24.50
22.05

24.81
33.24

42.28
21.40
28.92
28.51
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2.80 4.00 {«
453 8.00 « 18.21
25.00 fp 16.82
25.00 ail - 3.23
5.00 37.23
60.00 {« 16.73
25.00 a 8§ 13.02
25.00 a 82327
3 15.00
25.00 B 3.49 5.00
6.22 9.00
20.42 36.00
’ 18.11 36.00
21.39 36.00
! 2.02 5.00
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24.49 24.56
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057
-.069
247
-.060
061
339
-.048
030
085
-.164
014
018
150
-.027

1.018
-1.124
4.090*
-979

973
6.126*
-.142

467
1231
-2.769™

. 226

327
2.513% .
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-.094

.184

-.065

206

-.078
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3.435*

-1.534
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-1.377
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plk t PH t
P17 15 149 1853* 153 1799
P17.16 -286 -3.361*- 169 -1.915*
' R = 545 308
=297 159
F = 7.095% 6687
P < .05
4
A
15.9 05
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Pk k  pk t

P16,1 010  .004
P16,2 033 768
P16, 3 -030 -.638 -.010 -.093
P16,4 -019 -588 -.012 -.278
P16,5 046 1011 040 925
P16,6 014 075
P16,7 ' 049 1129 052 1.197
P16,8 -038 -.800 -.033 -.694
P16,9 - 132 -2.724%*- 122 -2.568*
P16,10 -193 -4.761*-.190 -4.796*
P16,11 091 2.050* .079 1.890*
P16,12 -034 -.275
P16,13 -081 -1.900*-.062 -1.635
P16,14 017 420 021 526
P16,15 674 16.651* .670 16.808*

R = 719 799

R2= 639 638

F =31.670% 44.069*

I-||1’<.05
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P15,3
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P15,6
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P15,9
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63.9

=y

034
033
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- 124
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079

-.056
-919

-1.690**
-1.967*

165
-.159
1.689**

-1.720%*
-1.930%* -,
4.132%% -,
-.045

-.135
1.223

P.K

-.029
-.104

039

059

-. 150

175
266

.05

- 474
-1.645%

583

929
-2.103**
-2.456%*
-4.560**

-.684
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* p < 05
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00 18.3 !
0 00 161 01 0 .05
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031
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016
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. 284
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020
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2.176%

-.084 -
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2.140%
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331
158
4.095*
-1.836*
1.238
305
-.802
168
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005 -

114
178
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315
-.084

-.036
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410
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2.698*
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4.642*

-1.262
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P13, 2
P13,3
P13, 4
P13,5
P13,6
P13,7
P13.8
P13,9
P13,10
P13,11
P13,12

*P <05

» 19.9

R2

05

\] t  PK

107 1.834*
042 932

168 3.129**
025 458

©.084 1480

-6.469* -.375 -6.853*

015 266
113 1822
056 920
035 635
038 604
(157 2817
012 .19
007 .01
068 994
017 296
029 -.459
373

502
252
7.667"
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249
15.683 "
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P12,1
P12,2

P12,3 {
P12, 4

P12,5 )
P12,6  {

P12.7

P12,8 {
P12,9

P12,10

P12,11

* P <05

101

%52 |
! 05

P | Dkt

-014  -233
76 27497 158 2.550%*
-231 -3700%* - 236 3809
-074  -1.057
118 L782
-094  -1.616
-028  -429  -.055 -.889
-.082 -1.169
-237  -3.352%* - 260 -4.172**
142 2.43
1372072 164 2590%*

R = 421 342
RZ= 177 117
F o= 5 3~ 1.561%*
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dm
|
UL Pt
PU.1 084 -1.565
P11,2 084 -1.459 -145 -2.783"
P11.3 ! 027 -478
P114 086  1.353
P115 ) 145 2444% 208 3.641**
P11,6 088 -1.679** -.100 -1.902"
P11,7 160 2726 231 4.196°
P11.8 ! 171 2.731H
P119 139 2181%* 212 3.545"
P11,10 061 -1.151
R 561 52?2
R2 = 315 274
F = 12.648" 21.159"

* P < .05
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P10,1
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P10, 3
P10,4
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P10,7
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P10,9

*P < 05

10

27.4

103

315
a mo
pk ¢ Px
03 .
053 -798 -046 -714
153 2.397% 158 2482*
057 798
219 -4.252*
5L 2542% 135 2.265¢
059 -.884 -054 -.936
090 1.268
037 1.268
R = 3% 202
Ra = 110 042
Fo= 38091 3.178*
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71
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-.016
035
019
081
267
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141
337
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651
353

1.356
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1.775%

2.569*
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388
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032
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139
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12
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085 1.558

-015 -.266

« -.088 -1.564
289 4.662**
186 3.371**

I -050 -.941
201 3475+

R = 529
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15417

M
11
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05
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-091 -1.752%*
258 4210
190 3496

-045 -.866
212 3.684*

520
211
20.878**
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P7.1
P7,2
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P74
P7,5
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*P <05

13

21.1

R2

28.0
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065
-.006
076
451
098
020

480
231

1.149
- 1217
1.297
1.716*
1.740%
373

13.985*

106

05

014 243
077 1318
440 7.750%
098 1.744*

AT6
221
20.631*
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15
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P6,1 088  1.452
P6,2 210 3.217*
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Po, 4 » J140  2.229**
P6,5 017 271
RAAa148
R2 i=ivi=i074
F o= 4574%
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212 3581
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P5,1 .006 .114 .007 .128
PS5, 2 .023 .365 .013 .219
PS5, 3 -.087 -1.428
P5,4 . 353 6.220** .364  6.454**

R = .372 .364

R2 = .138 .132

F = 11.487* 14.583**
* P < .05
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17
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P41 .. 182 -3.042'* -. 174 -3.032%*
P4, 2 -.003  -.053
P4, 3 { 2126 -2.011% -.111 -1.926**
vkl 220
Rz =  .056 048
F = 5786 7.486**
t P <05
17 a
5.6 |
4.8 05
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P31 027 482
P32 414 7.465*
R = 423
R2 = 179
F = 31.904*
* P < .05
18 {(
« ' 17.9

17.8 o, ;

110

422 7.984*

422

178
63.741*

05
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P21

+p < 05
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«

« 91

n
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p, k t

302 5.429°
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091
29.475*
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20

pk t

. 302

5.420**

302
091

29.475"
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dm

Rz 9881 M= .9803

< p < 05 (.05\ 2% =69.21)

Q= .6041

R2

297
639
182
.19
252
A7
315
110
368
280
231
074
138
056
179
091

159
638
161
168
249
117
274
042
3687
211
227
068
132
048
178
091

= 109.88*
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98.81

98.03

Q = 6041
60.40

2
(
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8
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05
3
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21 - 36
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I p,k t
P17,3 ! 190 3.581*
P17,6 322 6.005*
P17.7 =119 2117
P17,9 123 2.105*
P17,10 -158  -2.740*%
P17,13 144 2.608*
P17,14 -074 1.395
P17,15 181 2.386%
017,16 250 -2.956*
R =511 H20=d (iU F = 11.150*
p < .05
21
B 26.2 al

05 !

»
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P16,9 -101  -2.586*
P16,10 -195  -5.238*
P16,11 094 2468~
P16,13 -064  -1.782*
P16,15 685  18.142*
R =.800 R2 = 641 F = 104. 386*
P < .05
22 B
64.1 (

05
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P15,3
P154
P15,7
P15,8
P15,9
P15,10

+p < 05

»

23

R =408

05

»

»

«

»

23

»

Ra = .166

» 16.6

»

F =9 473

P

-.120
-.130
086
- 113
-.150
-.283

2.155%*

-1.999*

1351

-1.687*
-2.297*
-5.162*

116



24

P14,1
P14,3 {
P14.4

P14,5

P14.8 («
P14,9

P14,13

R =.436 Ra = .190
P < .05
24

19.0
.05

F = 9-523**

P“*

134
107
162
143
297

-.107

067

2.526*
2.172*
2.664*
2.310*
4.501*

-1.589

1.222

117
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P13, 2
P13.8
P13,9
P13,12

R =.497

P < .05

05

25

«

R2 = 247

( «

24.1

«

am

PI*

130
176
076

-.402

F = 23.890*

2.472%
3.458*
1.462

-1.792%

«

118
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P12, 2
P12, 3
P12,5 «
P12, 7 «
P12,9 «
P12,10 «
P12l «
R =.400 R2 =160 F =7.605*
p < .05
26 (1
« ! 16.0

.05

PK

157
-.213
093
-.073
266
-.167
126

2.566*
3.454*
1.427

-1.192

4.327*

-2.917*

1.969*
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P11,2
PII,5
P11,6
P11,7
P11,8
PI1,9

27

«
«
Iih
«

«

R =.544 Rz = .29

+p < 05

21 «

29.6
.05 «

« «

F = 19.568**

«

P

-.133
187
-.090
194
184
141

«

-2.581**

3.286™*

-1.724%*

3,485+
3017+
2213

120
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P10, 3 ! 116
P10, 5 « -.228
P10,6 « 136

R =.302 R2=.091 F = 068

p < .05

N 28 « a
« » 9.1 N« «

2.045K

-4.091*

2.414%

«

N 05
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29
Pk 1
P9 4 083 1471
P9 5 264 5541*
P9 6 095 2.111%
P97 143 3.251%
P9 8 {« 331 6.707*
R =.620 Ra = .385 F = 43.200%
* P < 05
29 8

385 {
05
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P8,3
P84
P8,5
P8,7

R =519

*p <05

05

Re = 269 F = 25.934*

30
26.9

«

-.097
253
190
211

-1.868"

4.231*
3.463*
3.664*
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{

( P K
P7,3 {« 076
P74 430
P75 107

R =.465 R2 216 F = 39.189*

p < 05
3
21,6
05
&Y
dm
! PK
P61 083
P6, 2 212
P64 124
R =.261 R2= 068 F=7081*

Mo < o5

1.423
1.638
1.900

1.396
3.581*
1.937*

24
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P54 343 5.126
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p < .05
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(1«
P41
P4 3 {«
R =220 R2 = 048
P < .05
34
3 48
.05
3H
Iy 8
P32
R =.422 R2 = 178

P < «05

»

F = 7.486"

»

»

F = 63.742"

p,h

-174
-111

P.K

422

8

«

-3.032°
-1.928"

4.221"
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05
17.8
38
Ik
P2,1
R =302 Rz = .091
P < .05
38
05
RZ

F = 29.475*

PK

302

37

5.429*

9.1

127
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182 166
199 190
252047
77160
35 206
110 091
388 385
280 269
231 16
074 068
« 138 117
U 056 048
179 178
01 001

Rem = 9881 M= 9850 Q= .7955 = 50.547"

79.08)
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